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= 500,000 1,552,000 A 1,052,000
J| 1,980,000 2,000,000 20,000
= 38,000 38,000 0
= 1,150,997 1,582,861 A431,864
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Al 58,524,636 27,489,544 31,035,092
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< 17,900 17,900 0
= 120,000 120,000 0
Al 1,429,246 2,089,646 A 660,400
o2 R 300,444 309,044 A 8,600
o3 YHR2I 300,444 309,044 A 8,600
201 L Et2A | 162,400 171,000 A 8,600
01 AtR 22l | 167,400 166,000 A 8,600
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S 1,133,097 1,564,961 N431,864
Al 6,814,636 25,119,144 A 18,304,508
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< 1,133,097 1,564,961 A 431,864
Al 6,814,636 25,119,144 A 18,304,508
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= 50,323 200,323 A 150,000
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< 1,133,097 1,564,961 A 431,864
Al 6,814,636 25,119,144 A 18,304,508
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OZHAMZa2 HE(2SFEEFHA) (ALY
) 0& 0 2,500,000 A 2,500,000
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OLESEAANY 2INA(sSZHY) 0 0 570,000 A 570,000
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O=cl HIALEY JHXJ(HHeRSH)
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